This question papér contains 8 printed pages. | Your Roll No. ................

Sl. No. of Ques. Paper. : 1951 ' GC-3
Unique Paper Code : 62411116 ’

Name of Paper : Financial Accounting _

Name of Course : B.A. (Prog.) CBCS - Accounting and Finance
Semester 01

Duration : 3 hours

Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)

(57 T57-97 @ food & a9 R 7@ RefRa v wv svam g fifs )

Norte :—  Answers may be written either in English or in Hindi; but the same medium should be used
throughout the paper.

fewelt : g9 Gy9-4F @7 IOV JAGT I BT fFAT v umr § A5 dfdT oot Sov @ areaw
| & & @Ry

All questions are compulsory. All questions carry equal marks.
Show all workings clearly as part of the answer. Use of simple calculator is allowed.
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1. What is accounting? Briefly explain the purposes and limitations of accounting.
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From the following Trial Balance of Mr. X, prepare Trading and Profit & Loss Account for
the year ended 3ist December, 2013 and balance sheet as on that date:

Dr. (Rs.) Cr (Rs.)
Purchases and Sales 2,75,000 ' .5,720,000
Return Inwards 15,000
Return Outwards ' 9,000
Carriage Inwards 12,400
Wages and Salaries 58,600
Trade Expenses 2,200 _
Rent 13,000
Insurance 2,000
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Audit Fees 1,200 |

Debtors and Creditors 1,10,000 ' 62,100
B/R and B/P . 3300 2,200
Printing and Advertising 5,500

Commission 1,000
Opening Stock 36,000

Cash in Hand 12,800

Cash at Bank 26,800

Bank Loan : - 20,000
Interest on Loan 1,500

Capital : 2,50,000
Drawings 15,000

Fixed Assets 3,00,000

Total 8,77,300 78,77,300

Adjustments:

(a) Stock at the end Rs. 60,000.

(b) Depreciate Fixed Assets by 10%.

(¢) Commission earned but not received amounts to Rs. 400.

(d) Rent received in ad\;ance Rs. 1,000.

(¢) Interest 6n Bank Loan @ 15% p.a. is unpaid for the last six months.

H Allow 8% lintefest on capital and charge Rs. 900 as interest on Drawings.
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On 1st January 2010, Amit of Mysore consigned to Sumit of Bhopal, goods valued at Rs.
80,000. Amit incurred thereon Rs. 5,000 for freight and insurance. He drew a bill on Sumit
for Rs. 60,000 as an advance and discounted the bill for Rs. 58,000. Sumit took the delivery

of the consignment and paid Rs. 1,000 for octroi and landing charges.

80% of the goods were sold by Sumit for Rs. 85,000 and he is entitled to a commission
of 8% on sales. Other expenses of consignee were: advertisement expenses Rs. 600 and

selling expenses Rs. 1,000. Sumit remitted the amount due from him by means of a bank

draft.

Prepare necessary accounts in the books of both the parties.
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A in Bangalore enters into a joint venture with B in Mumbai to ship cotton bales to C in
Japan. A sends cotton to the value of Rs. 30,000, pays railway freight, etc., Rs. 1,500 and
sundry expenses Rs. 1,575. B sends goods valued at Rs. 20,750 and pays freight and
insurance Rs. 1,200; dock .dues Rs. 200; custom charges Rs. 500 and other sundry
expenses- Rs. 500. A advances to B Rs. 6,000 on account of Fhe venture. B receives
Account Sale and remittance of the net proceeds fro.m C in Japan for the whole of the

goods amounting to Rs. 80,000.

Prepare necessary accounts in the books of A and B assuming that A and B share Profit

and Loss equally.
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(a) Write notes on:
() Hire Purchase System

(1)) Default and Repossession.



(b)

(2)
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From the following information calculate total interest and interest included in each

instalment:

(1) Cash price Rs. 3,00,000.

(i) Down payment at the time of signing the agreement on the first day of the
accounting period Rs. 1,00,000.

(ii) Three annual instalments of Rs. 80,000 each.

(iv) Rate of interest is 10% per annum.
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Or (1)
Define Depreciation. Briefly explain the straight line method and written down value

method.
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A company acquired a machine on July 1, 2011 at a cost of Rs. 40,000 and spent Rs. 1,000

on its installation. The company writes off depreciation at 10% on diminishing balance. The

books are closed on 31st December every year. Show the machinery account for three

years.
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Explain the following:
(i) Dependent branches
(i) Difference between consignment and sale
(i) Importance of accounting standards.
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Murti Co., Mumbai, opened a branch at Patna on 1st April 2001. The following information

is available in respect of the branch for the year 2001-2002:

Goods sent to branch

Cash sales at the branch

Credit sales at the branch

Salaries of the branch staff paid by Head Office
Office expense of the branch paid by Head Office
Cash sent to branch for petty expenses

Petty cash at branch on 31.3.2002

Debtors of branch as on 31.3.2002

Stock at the branch on 31.3.2002

Prepare branch account.

Rs.
75,000
50,000
60,000
15,600
12,000

6,000

. 500

5,000
27,000
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12,000
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(@) What do you mean by “dissolution of firm”? Distinguish between dissolution of

partnership and dissolution of firm.

T H GT B Y T G9Ed &7 I8 9ER B o ¥ fhg IR R B2 8

(b) How are accounts settled at the time of dissolution of a firm? :
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. Or (vFe)
A and B shared profits in the ratio of 3 : 2 : Their balance sheet as on 31st Dec., 2009

was as follows:

Liabilities ‘ Rs. Assets Rs.
Creditors 20,000 Cash at bank 8,000
Loan from A 16,000 Debtors 40,000
General Reserve 25,000 Less: Provision _L§9_(_). | 38,200
Capitals: A 1,20,000 Stock 54,800
B 80,000 2,00,000 Investment -20,000
Machinery 40,000
Land & Building 1,00,000

Partners decide to dissolve the firm on the above date. Assets realised as follows:

Stock Rs. 45,000; Machinery 20% less than the book value, Debtors Rs. 35,000. Land and
Building Rs. 30,000 more than the book value. A took over investments at an agreed value
of Rs. 15,000.

Creditors agreed to accept 5% less. Expenses of realisation of assets amounted to Rs.

1,200. There was a typewriter in the firm, which was bought out of the firm’s money, but

was not shown in the books of the firm. It is now sold for Rs. 5,000.

Prepare necessary accounts.
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Tfr: A 1,20,000 <% 54,800

B _ 80,000 2,00,000  fyasr 20,000
LHIEN 40,000

o T 9 1,00,000
2,61,000 2,61,000 .
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